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Answer of all the questions (short answer as well as descriptive) are to be given in the main answer-book
only. Answers of short answer type questions must be given in scquential order. Similarly all the pants of
one question of descriptive part should be answered at one place in the answer-book. One complete
question should not be answered at different places in the answer- book, Write your roll numbers on

question paper before stant writing answers of questions.

PART-1: (Very Short Answer) consists of 10 questions of 2 marks each. Maximum limit for
each question ks up to 40 words,

PART-II:  (Short answer) consists of 5 questions of 4 marks each. Maximum limit for each
question is up to 80 words,

PART-MI: (Longanswer) consists of 5 questions of 12 marks each with internal choice,
PART -1
I. Very Short Answers Type [10x2=20]
(a) Defineonetoone function.
(b) Definerange ofa function.
{c) Defineanmxnmatrix

01
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(e) Write an equation of straight line in the intercept form.
(f) Solve:3x’-5x+]=dx.§

(g) Define standard deviation

(h) Define the line of regression of y on x.

132 1 PT.Oy



(i 1P =210, findn
(1) Ifiwodice are thrown what i the probability thut the sum is greater than §.

PARY - 11
2. Attempt all the following parts: [Sxd=20]
pi"iﬂmwd'ui the function f: R—+R defined by fix) = 3x"+5 forall xe R is a bijection.
AB) Find the value of the following determinant by without expansion:
1316 19/ @
14 17 20| 51,’-.
15 18 21 :
{W that the following points are vertices of a right angle triangle:
(2.-2),(-2,1)and (5,2)
Find the median of the following frequency distribution:
e P Pi— m— e
x: | 1 | 2 3| wls]w] »] 9 9
| 16 | 8| 2| s | 2| u|1w]| 09 | s
! - S MRS | | — .
(€} Inhow many ways can 4 boys and 5 girls be seated in a row so that they are alternate?
PART - 11l
(5x12=60)

Anempt all the following five questions by laking any two pants from each question:
3._Aa) (i) Defineldentity function snd constnt functiun with their graphs.,

(1) Iff: R -» Ris abijection suchthat f{x) = 2x+7. Find the inverse of f.
l=-x x4y
(b) If &(x) |ﬂg(m].shnwthnﬁxj+¢{y}- ] =

(c) Letthefunctionf : R — Rand g : R — R be defined by

/ Fix)=2x,g(x)=x"+2,¥ x € R . Find fog (2) and gog(1).
4, (a) Findthe inverse ofthe matnx

(b) Solvethe following equations by Cramer's rule:
2x-y+3z=9 , xty+tz =6 and x-y+z =2

(¢) Prove that:

a1 1
I 14b || =abo(i+ gogedy
L1 I+

5. Ab) Find the equation of straight line which passes through the point (2,3) and parallel 1o the line

joining the points (1,2) and (7,3).
PTO)
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(b) Find the equation of a circle passing through a point (3,-1) and having its centre at the point of
intersection of the lines dx+y=1 = 0 and 2x-y+5=0.

(¢) Find a quadratic equation whose roots are reciprocal to the roots of the quadratic equation

ax’+bxsg=()
6. (a)} Calculate the median for the following distnbution :
( ——T—T T .
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(b) 1f each variate value be multiplied by a constant quantity a, then prove that the vanance is
multiplied by a’

(¢) Find the Karl Pearson's coefficient of comrelation between the ages of husband and wife at the
time of their marmage :

- I
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7. (a) The odds against a cenain cvent are 5 to 2 and the odds in favour of another event are 6 to §; if
the events are independent, find the probability of the happening of at least one of them.

(b) Four persons are choose at random from a group of 3 men , 2 women and 4 children. Find the
probability that the group has exactly two children.

" (e) If "°P,=3024 and "'P,= 120, find m and n.
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